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QUESTION NO: 1 CORRECT TEXT

Before you configure multiple Apache Web Servers to use a common configuration in eDirectory,
you must make each server a member of the same . Answer:

Answer: SERVERGROUP

QUESTION NO: 2
How many snapshots can exist on a particular stored-on pool?

A. 1000
B. 50
C. 250
D. 100
E. 10
F. 500

Answer: F

QUESTION NO: 3
What is the role of DirXML Matching Rules? (Choose 2.)

A. Determines the location of the new object in eDirectory or in the external application during an
Add Object event.

B. Controls whether an object will be added during an Add event based on the existence of
required attribute values.

C. Maps the names of attributes and classes between eDirectory and the external application.

D. Controls the way data flows from one system to another.

E. Establishes associations between an existing entry in eDirectory and an existing entry in the
external application.

F. Locates an existing object that matches the object generating the event.

Answer: E,F

QUESTION NO: 4
Which licensed drivers are included in the DirXML Starter Pack? (Choose 3.)

A. Active Directory




B. Lotus Notes

C. NT Domains

D. PeopleSoft

E. Microsoft Exchange
F. eDirectory

Answer: A,C,F

QUESTION NO: 5

You want to create a pool snapshot of the DATA_POOL on your server. You want to use
DATA_POOL_S as the stored on pool. You want to name the snapshot DATA_POOL_S1. What
command could you use from the server console to do this?

. mm snap create DATA_POOL DATA POOL_S DATA POOL_S1
. mm snap create DATA_POOL_S DATA_POOL DATA_POOL_S1
. mm snap DATA_POOL DATA_POOL_S DATA_POOL_S1 create
. mm snap create DATA_POOL DATA POOL_S1 DATA_POOL_S
. mm snap DATA_POOL_S1 DATA_POOL DATA_POOL_S create
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Answer: A

QUESTION NO: 6

When installing products on a NetWare 6.5 server, what does the Apache2 Web Server and
Tomcat 4 Servlet Container product option do?

A. Installs an administration instance of Tomcat 4.

B. Installs an administration instance of the Apache Web Server.

C. Installs the Apache Web Server and Tomcat 4 for a dedicated web hosting solution.

D. Installs both a public instance and an administration instance of Apache Web Server and
Tomcat 4.

Answer: C

QUESTION NO: 7

If User Provisioning has been configured in Branch Office system, what happens when a user logs
into the Branch Office Appliance for the first time?

A. The login will fail until the administrator creates a new account on the Appliance.




B. The Provisioner creates a user account in the Central Office Server's eDirectory tree.

C. The Provisioner launches the Appliance web-based administration tool and prompts the user to
create a new user account.

D. The Provisioner creates a temporary user account on the Appliance that has a default set of
rights for basic system access.

E. The Provisioner notifies the administrator that a new user account needs to be created on the
Appliance.

F. The Provisioner creates a user account on the Appliance with the same username and
password as in the Central Office Server's eDirectory

tree.

Answer: F

QUESTION NO: 8 CORRECT TEXT

In NetWare 6.5, you can configure all services to use a common password, called
Answer:

Answer: UNIVERSALPASSWORD

QUESTION NO: 9

You're planning a Branch Office Deployment. Your system will contain one Central Office Server
at your organization's corporate headquarters and three remote Branch Office Appliances
connected by a T1 link. You want to manage all user accounts at the home office. To do this, what
service must be working properly on the Central Office Server?

A. Rsync

B. Tomcat

C. OpenSSH

D. iSCSI

E. LDAP

F. MySQL

G. Novell exteNd Application Server

Answer: E

QUESTION NO: 10

During a consolidation project, you mark Yes in the Synchronize Files and Folders screen. What
will happen during the consolidation as a result?
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